$$\begin{split} & \left\{ \begin{array}{c} \dot{C}_{1}(k) = \frac{i}{2k} \sum_{k} e^{ikk} C_{2}(k) \\ \dot{C}_{2}(k) = \frac{i}{2k} \sum_{k} e^{ikk} C_{1}(k) \\ \dot{C}_{2}(k) = \frac{i}{2k} \sum_{k} e^{ikk} C_{1}(k) \\ \dot{C}_{2}(k) = \frac{i}{2k} \sum_{k} e^{ikk} C_{1}(k) \\ \dot{C}_{1}(k) = \frac{i}{2k} \sum_{k} e^{ikk} \sum_{k} e^{ikk} \sum_{k} e^{ikk} \sum_{k} E^{ikk} \\ \dot{C}_{1}(k) = \frac{i}{2k} \sum_{k} e^{ikk} \sum_{k} e^{ikk} \\ \dot{C}_{1}(k) = \frac{i}{2k} \\ \dot{C}_{1}(k) = \frac{i}{2k} \\ \dot{C}_{1}(k) = \frac{i}{2k$$

$$\begin{split} \Delta_{1} &= \Delta^{2} - 4(-1) \frac{\Omega_{e}^{2}}{4} = \Delta^{2} + \Omega_{e}^{2} & \lambda_{3,1} := \pm \frac{\sqrt{\Delta^{2} + \Omega_{e}^{2}}}{2} = \pm \lambda \end{split}$$

$$\begin{split} \mu_{1} &= -\frac{\Delta \pm \sqrt{\Delta^{2} + \Omega_{e}^{2}}}{-2} \Rightarrow \mu_{1} = \frac{\Delta}{2} \pm \frac{\sqrt{\Delta^{2} + \Omega_{e}^{2}}}{2} \Rightarrow \mu_{1} = \frac{\Delta}{2} \pm \lambda \\ \Delta_{2} &= (-\Delta)^{2} - 4(-1) \frac{\Omega_{e}^{2}}{4} = \Delta^{2} + \Omega_{e}^{2} \\ \mu_{2} &= -\frac{\Delta}{2} \pm \sqrt{\Delta^{2} + \Omega_{e}^{2}}}{-2} \Rightarrow \mu_{2} = -\frac{\Delta}{2} \pm \frac{\sqrt{\Delta^{2} + \Omega_{e}^{2}}}{2} \Rightarrow \mu_{e} = -\frac{\Delta}{2} \pm \lambda \\ \Lambda_{pq}, \text{ of } \lambda_{0} \text{ term } Sa \quad c_{1} \text{ out} \\ \int (-\Delta)^{2} = \alpha e^{i\frac{\Delta}{2}} \pm e^{i\lambda \pm i\lambda \pm i\lambda} \\ \frac{\Lambda_{pq}}{-2} &= \frac{i\Delta^{2} \pm \sqrt{\Delta^{2} + \Omega_{e}^{2}}}{2} \Rightarrow \mu_{2} = -\frac{\Delta}{2} \pm \lambda \\ \begin{pmatrix} \Lambda_{pq} &= -\frac{\Delta}{2} \pm i\lambda \pm \sqrt{\Delta^{2} + \Omega_{e}^{2}} \\ -2 &= -\frac{2}{2} \pm e^{i\lambda \pm i\lambda \pm i\lambda \pm i\lambda} \\ \int (-\Delta)^{2} = \alpha e^{i\frac{\Delta}{2}} \pm e^{i\lambda \pm i\lambda \pm i\lambda \pm i\lambda} \\ \int (-\Delta)^{2} = \alpha e^{i\frac{\Delta}{2}} \pm e^{i\lambda \pm i\lambda \pm i\lambda \pm i\lambda} \\ \int (-\Delta)^{2} = \frac{i\Delta^{2}}{2} e^{i\lambda \pm i\lambda \pm i\lambda \pm i\lambda \pm i\lambda} \\ \int (-\Delta)^{2} = \frac{i\Delta^{2}}{2} e^{i\lambda \pm i\lambda \pm i\lambda \pm i\lambda \pm i\lambda} \\ \int (-\Delta)^{2} = \frac{i\Delta^{2}}{2} e^{i\lambda \pm i\lambda \pm i\lambda \pm i\lambda \pm i\lambda} \\ \int (-\Delta)^{2} = \frac{i\Delta^{2}}{2} e^{i\lambda \pm i\lambda \pm i\lambda \pm i\lambda \pm i\lambda} \\ \int (-\Delta)^{2} = \frac{i\Delta^{2}}{2} e^{i\lambda \pm i\lambda \pm i\lambda \pm i\lambda \pm i\lambda} \\ \int (-\Delta)^{2} = \frac{i\Delta^{2}}{2} e^{i\lambda \pm i\lambda \pm i\lambda \pm i\lambda} \\ \int (-\Delta)^{2} = \frac{i\Delta^{2}}{2} e^{i\lambda \pm i\lambda \pm i\lambda \pm i\lambda} \\ \int (-\Delta)^{2} = \frac{i\Delta^{2}}{2} e^{i\lambda \pm i\lambda \pm i\lambda} \\ \int (-\Delta)^{2} = \frac{i\Delta^{2}}{2} e^{i\lambda \pm i\lambda \pm i\lambda} \\ \int (-\Delta)^{2} = \frac{i\Delta^{2}}{2} e^{i\lambda \pm i\lambda \pm i\lambda} \\ \int (-\Delta)^{2} = \frac{i\Delta^{2}}{2} e^{i\lambda \pm i\lambda \pm i\lambda} \\ \int (-\Delta)^{2} = \frac{i\Delta^{2}}{2} e^{i\lambda \pm i\lambda \pm i\lambda} \\ \int (-\Delta)^{2} = \frac{i\Delta^{2}}{2} e^{i\lambda \pm i\lambda \pm i\lambda} \\ \int (-\Delta)^{2} = \frac{i\Delta^{2}}{2} e^{i\lambda \pm i\lambda} \\ \int (-\Delta)^{$$

The seripcion two and 
$$(\mathbb{R})$$
 by  $\Delta \neq 0$   $\lambda = \frac{M \lambda^2 + \Omega_R^2}{2} \Rightarrow 4\lambda^2 = \lambda^2 + \Omega_R^2$   
 $(\frac{1}{2} e^{i\frac{\Delta}{2}t} [ae^{i\lambda t} + pe^{-i\lambda t}] + e^{i\frac{\Delta}{2}t} [a(\lambda e^{i\lambda t} + p(-i\lambda)e^{i\lambda t}] =$   
 $(\frac{\Omega_R}{2} e^{i\frac{\Delta}{2}t} [xe^{i\lambda t} + pe^{-i\lambda t}] + e^{i\frac{\Delta}{2}t} [xe^{i\lambda t} + g(-i\lambda)e^{i\lambda t}] =$   
 $\frac{\Delta}{2} a + a\lambda = \frac{\Omega_R}{2} x$   $|xai| = \frac{\Delta}{2} \beta - \beta\lambda = \frac{\Omega_R}{2} \delta$   
 $\frac{\Delta a + 2a\lambda}{2} = \frac{\Omega_R}{2} x$   $|xai| = \frac{\Delta \beta - 2\beta\lambda}{2} = \frac{\Omega_R}{2} \delta$   
 $\frac{\Delta a + 2a\lambda}{2} = \frac{\Omega_R}{2} x$   $|xai| = \frac{\Delta \beta - 2\beta\lambda}{2} = \frac{\Omega_R}{2} \delta$   
 $\frac{1}{2} = \frac{(\Delta + 2\lambda)}{2} a^{i\lambda t} xe^{-i\lambda t} + e^{-i\frac{\Delta}{2}t} [x(0\lambda e^{i\lambda t} + \delta(-0\lambda)e^{i\lambda t}] =$   
 $\frac{(\Delta - 2\lambda)}{2} e^{i\frac{\Delta}{2}t} [ae^{i\lambda t} + \delta e^{i\lambda t}] + e^{-i\frac{\Delta}{2}t} [x(0\lambda e^{i\lambda t} + \delta(-0\lambda)e^{i\lambda t}] =$   
 $\frac{\Omega_R}{2} e^{-\frac{(\Delta t}{2}t} [ae^{i\lambda t} + \beta e^{i\lambda t}] = \sum$   
 $-\frac{\Delta}{2} y + \beta\lambda = \frac{\Omega_R}{2} a^{i\lambda t} xai - \frac{\Delta}{2} \delta - 5\lambda = \frac{\Omega_R}{2} \beta$   
 $\frac{-\Delta x + 2\lambda}{2} = \frac{\Omega_R}{2} a^{i\lambda t} xai - \frac{\Delta}{2} \delta - 5\lambda = \frac{\Omega_R}{2} \beta$   
 $\frac{\lambda - 2\lambda + 2\lambda}{2} = \frac{\Omega_R}{2} a^{i\lambda t} - \frac{2\lambda - 2\lambda}{\Omega_R} \delta$   
 $\frac{\lambda - 2\lambda + 2\lambda}{\Omega_R} = \frac{\Omega_R}{2} a^{i\lambda t} - \frac{2\lambda - 2\lambda}{\Omega_R} \delta$   
 $\frac{\lambda - 2\lambda + 2\lambda}{\Omega_R} = \frac{\Omega_R}{2} a^{i\lambda t} - \frac{\lambda^2 - 4\lambda^2}{\Omega_R} = \frac{1}{1} ti divis in \lambda tei$   
 $\delta = \frac{(\Delta - 2\lambda)}{\Omega_R} \cdot \frac{-(\Delta + 2\lambda)}{\Omega_R} \delta = -\frac{\Delta^2 - 4\lambda^2}{\Omega_R} = \frac{1}{2} ti divis in \lambda^2 tei$   
 $\begin{cases} C_1(t) = e^{i\frac{\Delta}{2}t} [ae^{i\lambda t} + \beta e^{i\lambda t}] \\ C_2(t) = e^{-\frac{i\frac{\Delta}{2}t}} [ae^{i\lambda t} + \beta e^{i\lambda t}] \end{cases}$ 

-

"Estudent of degrine conditions 
$$(A - \Sigma) = G(\varphi) = A - G(\varphi) = 0$$
  

$$1 = a + \beta$$

$$\varphi = \alpha + \frac{A + 2\lambda}{\Omega_{p}} + \beta + \frac{A - 2\lambda}{\Omega_{p}} \Rightarrow \alpha (A + 2\lambda) = \beta(2\lambda - A) \Rightarrow \varphi$$

$$\beta = \frac{2\lambda + A}{2\lambda - A}$$

$$1 = \alpha + \frac{2\lambda + A}{2\lambda - A} = \alpha + \frac{2\lambda - A + 2\lambda + A}{2\lambda - A} \Rightarrow (2\lambda - A) = \alpha + A + \frac{2\lambda - A}{2\lambda - A}$$

$$\beta = \frac{2\lambda + A}{2\lambda - A} \Rightarrow \beta = \frac{2\lambda + A}{2\lambda - A} \Rightarrow \beta = \frac{2\lambda + A}{4\lambda}$$

$$\beta = \frac{2\lambda + A}{2\lambda - A} \Rightarrow \beta = \frac{2\lambda + A}{4\lambda} \Rightarrow \beta = \frac{2\lambda + A}{2\lambda - A} \Rightarrow \beta = \frac{2\lambda + A}{4\lambda}$$

$$C_{1}(t) = C + \frac{C^{1} \frac{A}{2\lambda}}{4\lambda} + \frac{2\lambda - A}{4\lambda} = C^{1} + \frac{2\lambda + A}$$

•